PR | CABLE MANAGEMENT PANEL 1U x 19” || P8RT CM-2201

MATERIAL!
PANEL 16 GA. STEEL
STRAPS ____ VELCRO

FINISH:
PANEL ___ SMOOTH BLACK
STRAPS _—__ BLACK

SUPPLIED WITH FOUR (4) #10-32 x 5/8 LG. SCREWS
& FOUR (4) #12-24 x 1/2 LG, SCREWS FOR MOUNTING.

SUPPLIED WITH FOUR (4) VELCRO STRAPS,

| 8000 i
1000 | |
? N VELGRD STRMP
19,000
— 3782 | 3812 ' 3812 ' 3812 —= 0.330
0330 —=— ‘<— ‘ ‘ ‘ f 0235
- 1250 ] 1720
[} f -
0.187 x 1300 SLOT —/ 0.278 x 0.406 SLOT _»‘ L_ 0250
(8 PLACES (4) PLACES !
[anL | CABLE MANAGEMENT PANEL 1U x 23 || "FRT CM-2202
MATERTAL:
PANEL 16 GA. STEEL
STRAPS ____ VELCRO
FINISH:
PANEL _____ SMOOTH BLACK

STRAPS ____ BLACK

SUPPLIED WITH FOUR (4) #10-32 x 5/8 LG. SCREWS
& FOUR (4) #12-24 x 1/2 LG SCREWS FOR MOUNTING.

SUPPLIED WITH FIVE (5> VELCRO STRAPS.

; | 8,000 |
o |
f A VELCRO STRAP
23.000
< 3876 ——|—=— 3812 ——|=— 3812 ——}—=— 3812 ——}—=— 3812 —— —=| |=— 0330
0330 —— ‘«— ‘ ‘ ‘ ‘ — 0235
@ [Clam -
1,250 ] 1720
@ ® -
0487 x 1500 SLOT —/ 0278 x 0.406 SLOT —/—

(10) PLACES (4) PLACES ——‘ L— 0250




